Trigonometric Ratios

Name

Score
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The Leg Opposite to B is The Leg Opposite to B is
The Leg Adjacent to 8 is The Leg Adjacent to B is
The Hypotenuse is The Hypotenuse is
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The Leg Opposite to O is The Leg Opposite to O is
The Leg Adjacent to O is The Leg Adjacent to O is
The Hypotenuse is The Hypotenuse is
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The Length of Leg Opposite to O is The Length of Leg Opposite to O is
The Length of Leg Adjacent to 0 is The Length of Leg Adjacent to 0 is
The Length of Hypotenuse is The Length of Hypotenuse is )
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Trigonometric Ratios

Name

Score
Answer key
QR:02
A )
1) T 2)
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U 0
C B
The Leg Opposite to B is ST The Leg Opposite to B is AC
The Leg Adjacent to 8 is TU The Leg Adjacent to B is BC
The Hypotenuse is SuU The Hypotenuse is AB
L V
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0
Y X
J
The Leg Opposite to O is YZ The Leg Opposite to O is JK
The Leg Adjacent to O is XY The Leg Adjacent to O is KL
The Hypotenuse is Xz The Hypotenuse is I
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The Length of Leg Opposite to O is 17 The Length of Leg Opposite to O is 20
The Length of Leg Adjacent to 0 is 21 The Length of Leg Adjacent to 0 is 9
The Length of Hypotenuse is 30 The Length of Hypotenuse is 23 )
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